2019FELTHRHE SR

FR Disc (carbon)

FHHHE 2021/4/16

BBAA

BB386

F—n\—OvoFybstik(zavhk)

100mm (R)L—F D A)L)

F—n\—0yoFybstiE(J7)

142mm (RI)L—F O R)L)

AIL=TFHZA)L(ZAUH)

12x100x123mm (M12x1.5Px16L)

AIL—TFHOXIL)T)

12x142x166L (M12x1.0PX19L syntace)

O—hRAME 27.2mm
O—hRANISUTE 30.6mm

ANYRINN—YH AL X

AT L—FTvK43~47=I1S—21(1-1/8) . 51~54=N0.382(1-1/8-1-1/4)
56=No.42(1-1/8—1-1/2)

JAURTAL—5—X IR T BT
JL—FBE(Zavk) TV Ok
JL—FBE)T) I59hIOUk
FR(carbon)

BBAA BB386
A—nN\—0Oyorvybstii(zark)  [100mm(QR)
A—nN\—0OvoFyktik()7) 130mm (QR)
—hRRNISUTE 30.6mm
—hRANME 27.2mm

ANYRIR—=UH (X

AT L—FvR43~47=1S—21(1-1/8) . 51~54=N0.382(1-1/8-1-1/4)
.56=N0.42(1-1/8—1-1/2)

JOURTAL—5— IR T BE{FF
JL—xBE(ZOUR) T A—ERYEI DR
IJL—FEE()7) ALY IV

FR30

BBAA BB386
A—nN—aOyHorvybstii(zarvk)  [100mm(QR)
A—nN\—0OvoFybstiE(J7) 130mm (QR)
—hRRNISUTE 30.6mm

—hRARE 27.2mm

~YRK—UH A X

AT L—TvR43~47=1S—21(1-1/8) . 51~54=N0.382(1-1/8-1-1/4)
56=N0.42(1-1/8-1-1/2)

JAOVNTAL—5—IUNEA4T

34.9mm (/A K)

JL—*®8E@aVH

toA—ERybIOUR

JL—F&8EWT)

o A—ERyk




VR (carbon)

BBAA

BB386

ZA—nN\—avoFybkstik(zaorvk)

100mm (RJ)L—F P X)L)

A—n\—0voFybTEO)T)

142mm(RJL—F O R JL)

AIL—FHR)L(ZAVER)

12x100x123mm (M12x1.5Px16L)

RIL—TFHOZXIL()T)

12x142x166L (M12x1.0PX19L Syntace)

—hRRNISUTE 30.6mm

—hRARE 27.2mm

ANYRIR—YH A4 X AT L—TYR43~47=1S—21(1-1/8) . 51~56=N0.42(1-1/8—1-1/2)
JAUNTAL—5—XIREAT BT

JL—FEBE(ZOUR) I5vkRIUk

JL—*BEW)T) 759k Uk

VR30&.40

BBAA BB386

A—n\—avoFykstik(zarvk)

100mm(RJL—F O RIL)

F—nN\—0voFybstiE(7)

142mm(RJL—F I RJL)

RIL—FHR)L(ZAVER)

12x100x123mm (M12x1.5Px16L)

RIL—=TFORIL()T)

12x142x163mm+7head (M12x1.0PX19L Syntace)

O—hRRANISUTE 30.6mm
O—hRAMME 27.2mm

ANYRIR—=YHAX

AT L—FTvR43~47=1S—21(1-1/8) . 51~56=N0.42(1-1/8—1-1/2)

2OV TFAL—5—XIUNEAT

34.9mm/ A\ R

JL—XEE(ZOVR)

e hRerds

JL—®BEMT)

I59hRIUb

VR60

BBAA

68mmA LYk (JIS)

F—n—oOvoFybkstik(zarvk)

100mm (QRL73—)

F—n—0v9FybTEOT)

135mm(QRL73—)

O—MRRANISUTE 31.8mm
O—hRRANME 27.2mm

AVANASA R 78

AT L—FTvK43~47=I1S—21(1-1/8) . 51~56=No.42(1-1/8—1+-1/2)

JOVNTAL—5—RIUNIA4T

31.8mm/ AR

JL—%&E@OVN

25 vhRb

JL—%BEMT)

Pl 4w

IA FRD DISC

BBAA

68mmA L vk (JIS)

ZA—nN\—avoFybkstik(zaorvk)

100mm (RJL—F P X)L)

A—n\—0voFybTEO)T)

142mm(RJL—F DR JL)

AIL—FHR)L(ZAVER)

12x100x117mm (M12x1.5Px12.5L)




AIL—TFHOZXIL()T)

12x142x162.5L(M12x1.0PX18L Syntace)

S—bRANIZUTE

TI7OaRA47

O—hRANME T7as47

ANYRIN—IH A4 X FSA TH-8734>T45 L—TvYK1-1/8ACBRT 4
JOUMTAL—5— IR AT BE{FF

JL—FB8E(Zavk) PP

IJL—FEBEWT) IS5k IUk

IA 2 DISC

BBAA BB30

F—n\—OvoFybstik(zavhk)

100mm (R)L—F D A)L)

F—N\—AyoFIbTEMNT)

142mm (R )L—F P X)L)

AIL—FHR)L(ZAvR)

12x100x117mm (M12x1.5Px12.5L)

AIV=THZAIL()7)

12x142x162.5L(M12x1.0PX18L Syntace)

S—bRRANIZUTE

I7O%47

—hRAMME I70%47

AYR/IS—YH A X FSA TH-8731>T45 L—TvYK1-1/8ACBRT7 4
JOURTAL—5— IR AT BE1tF

JL—XBE(ZOUR) IS5k

IJL—FBEW0)T) IS5ykIIUR

IA 10&16

BBAA 68mm&A Ly K (JIS)
A—n\—OvyHFvybstiik(oark)  [100mm(QR)

A—n\—OvoFyktik()7) 130mm (QR)

—hRRNISUTE I7A%47

—hRAMME I7A%47

ANYR/N—YH A X FSA ISA> 75 L—TvyR1:1/8ACBRT Y
JOUhTAL—5—IX D RIAT BE{FT

JL—xEBE(ZOVR) T A—ERYEI DR

IJL—F%EE()7) ALY I

B 14

BBAA BB30

A—nN—0OyHorybstii(Tarvk)  [100mm(QR)

A—nN\—OvoFybstiE(JT) 130mm (QR)

—bRANISUTE T7a4%47

—hRAMME I7A%47

AYR/IS—YH A4 X FSA IS-214 T 45 L—TvYK1-1/8ACBART Y
JAURTAL—5—XIREIAT BT

JL—FBE(Zavk) T A—ERYEIT R

JL—FBE)T) FALLORI IR




TK 2&3

BBAA

68MMA Ly (JIS)

A—n—avHrybstiE(Tark)  |100mm
A—n\—0voFybkstik()7) 120mm
—hRRNISUTE 30.6mm
—hRARE 27.2mm

ANYRSR—YHAZ

FSA IS-214>FT 45 L—TYKR1:1/8ACBR TS

TK FRD(FRAM KIT)

BBAA

68MMA L vk (JIS)

A—n—avHFybstiE(Task)  |100mm
FA—n—avyoFybstE(T) 120mm
—hRRNISUTE I70%47
—RANME T7O%47

ANYRSR—YHAZ

FSA ISA>T45 L—TvYK1-1/8ACBRT7) 4

F5X

BBAA

BB386

ZA—nN\—avoFybkstik(zaovk)

100mm (RJ)L—F P X)L)

A—n\—0voFybTE)T)

142mm(RJL—F DO R JL)

RIL—FHR)L(ZAVER)

12x100x123mm (M12x1.5Px16L)

RIL—TFHOZXIL()T)

12x142x166mm+9head (M12x1.0PX19L Syntace)

S—bRRNIZUTE

31.8mm

S—hRRNME

27.2mm

ANYRSR—YHAZ

No.42(1-1/8—1+1/2)

2OV TFAL—5—XIOUNEAT

34.9mm/ A\ KR

JL—FEB8E(7Aavk) IS5y HUk
TJL—FEBEWNT) TS5k IHOUR
F24X

BBAA 68MMR Ly

d—"—OvoFybkstik(zavk)

100mm (QRL 73—)

F—nN\—0voFybstiE(7)

135mm(QRL73—)

O— I RRNISU TR 31.8mm
O—hRRAME 27.2mm

ANYRNN—YH AL X

FSA 1S3 A>T5L—TvK1-1/8

JOVUNTAL—5—RIUNEA4T

31.8mm/ N\ R RAT

JL—X&8ETOVN

VIL—%847

JL—%BEMT)

VIL—F347




F30X

BBAA

BB386

F—n\—0vyHFybstiz(Taorvh)

100mm(RJL—F O RIL)

F—n—0voFybTE)T)

142mm (R)L—F D A)L)

RIL—FHR)L(ZAVER)

12x100x123mm (M12x1.5Px16L)

AIL—TFHOXIL()T)

12x142x166mm+9head (M12x1.0PX19L Syntace)

S—bRANIZUTE

30.6mm

S—hRRME

27.2mm

ANYRR—=YHA4X

No.42(1-1/8—1+1/2)

JOVUNTAL—5—INEA4T

34.9mm/ AR

JL—*8E@aVH)

AN 4rMAN

JL—F&8EWT)

759 IUE

BROAM

BBAA

68mmA Ly (JIS)

F—n—0OvoFybkstik(zavk)

100mm(RJL—F I RJL)

F—n\—0voFybTET)

142mm(RJL—F O RJL)

RIL—FHR)L(ZAVER)

12x100x125mm (M12x1.5Px17L Maxle)

AIL—TFHOZXIL()T)

12x142x163mm+9head (M12x1.0PX19L Syntace)

S—bRANIZUTE

31.8mm

S—hRRNME

27.2mm

ANYRNN—YH AL X

No.42B(1-1/8—1+1/2)

JOVNTAL—5— NI4T

31.8mm/\ K

JL—*®EE@EVH

I59hRIUb

JL—*xBEMT)

25vbRk

VERZA 40(disc)

BBAA

68mmA Ly (JIS)

A—nN—0OyHrvybstii(ark)  [100mm(QR)
A—nN\—0OvoFyktik()7) 135mm (QR)
—hRRNISUTE 31.8mm
—hRANME 27.2mm

ANYRIR—YHAX

No.1OP (1-1/8E3A> T L—TYK)

2OV TFAL—5—XIUNEAT

31.8mm/ R

JL—XEE(ZOVR)

Pl 4w

JL—®BEMT)

PN 4w

VERZA 50(VJL—%)

BBAA

68mmA LYk (JIS)

A—n\—0vyHFybstiz(Zorvh)

100mm (QR)

F—n—0voFybTEO)T)

135mm (QR)




O—hRRANISUTE 31.8mm
O—hRAME 27.2mm

~YESR—YHAX

No.1OP (1-1/8E3A4 LTI L—TYR)

2OV TFAL—5—XIUNEAT

31.8mm/ AR




